
©Z y2]0s2t0l YK_uJtLaM hSXoPf]t[wDa[rQeR dL_LRCx.m Q RAqlmli nrpiOgNhZtOsj mrYe\sdeqrOvDeOdJ.F X `MPaqdLeG VwEiitLh^ aIhngfiiinyiBtYeR mCZaplPcyuSlwuRsq.

Worksheet by Kuta Software LLC

Assignment- Chain rule 

Name___________________________________  ID: 1

Date________________  Period____

Differentiate each function with respect to x.

1)  y = (−2x4 + 1)4 2)  y = (2x5 − 3)3

3)  y = (−3x5 + 4)3

4)  y = (5x2 + 3)
1

4

5)  y = (−x3 + 3)
1

5 6)  y = (x2 − 2)
1

3

7)  y = (−2x5 + 3)−3

8)  y = (2x5 − 1)
1

5

9)  y = (x5 + 4)−5 10)  y = 
3
−x4 + 3

SATPREP
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Answers to Assignment- Chain rule (ID: 1)

1)  
dy
dx

 = 4(−2x4 + 1)3 ⋅ −8x3

      = −32x3(−2x4 + 1)3

2)  
dy
dx

 = 3(2x5 − 3)2 ⋅ 10x4

      = 30x4(2x5 − 3)2

3)  
dy
dx

 = 3(−3x5 + 4)2 ⋅ −15x4

      = −45x4(−3x5 + 4)2

4)  
dy
dx

 = 
1

4
(5x2 + 3)

−
3

4 ⋅ 10x

      = 
5x

2(5x2 + 3)
3

4

5)  
dy
dx

 = 
1

5
(−x3 + 3)

−
4

5 ⋅ −3x2

      = −
3x2

5(−x3 + 3)
4

5

6)  
dy
dx

 = 
1

3
(x2 − 2)

−
2

3 ⋅ 2x

      = 
2x

3(x2 − 2)
2

3

7)  
dy
dx

 = −3(−2x5 + 3)−4 ⋅ −10x4

      = 
30x4

(−2x5 + 3)4

8)  
dy
dx

 = 
1

5
(2x5 − 1)

−
4

5 ⋅ 10x4

      = 
2x4

(2x5 − 1)
4

5

9)  
dy
dx

 = −5(x5 + 4)−6 ⋅ 5x4

      = −
25x4

(x5 + 4)6

10)  
dy
dx

 = 
1

3
(−x4 + 3)

−
2

3 ⋅ −4x3

      = −
4x3

3(−x4 + 3)
2

3




